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inkE] A+B=B+A, AB=BA

« #= 5710 (A+B)+C=A+(B+C), (AB)C=A(BC)
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« LB A(B+C)=AB+BC, (A+B)C=AC+BC
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e aMa™ = a

m+in

e (@™ = g™
* (ab)*=a"b"
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(B2 | T2BH)
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* (a + b)?= a* + 2ab + b?

e (a+b)(a—Db) =a?— b? (FlE& ZEDFE)
c(x+a)(x+b)=x*+(a+b)x+ab

e (ax + b)(cx + d) = acx? + (ad + bc)x + bd
e (a + b)3>= a® + 3a*b + 3ab* + b3

e (atb)(a*Fab+b?) =a3+ b3
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MEDEX T

1. ERZDIE CREPEWVADL SIEEID)
a’>+a’*+a+1, ab +a+1, abc +ab+a+1
2. REHARELCHBEIZ. 777Xy ~E
abc + ab + ac, a®+a*b + ab? + b3
3. XEN3ID2ULDFEEIZERERDIE
ab + bc + ca,ab + bc + cd + da, xy* + yz* + zx*
4, TH, =TI [BE] LN GoT, HFEYRICL
72T 0K, T9d,
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